|IECsRGBul-Normhelligkeit I*
[* Yac=Yw  nc=100,

I |EcsraBu1=50 (Y/Yy) Y24(Y, =18, Y, 100<Y<=Y, o)
1%\ (3,6)=26, ,(18)=50,1* 1y (90)=98

I¥,=50,0Q m=47,94

L* =49, I* =50

1 bereich

1Y,=18
=l log

Yn=3.6

IECSRGBu1l
Normfarbwertdifferenz
Yoc=Yw - nc=100,
I lEcsroBu1=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y,)
log(dY) = (1/2,4) log[2,4Y/50)] + [1-(1/2,4)] logY)

. bereich
Yu=18
Yn=3.6  1Yy=90

log AY/Y) IECSRGBul
. Normfarbwertemfindlichkeit
SOV Yoc=Yw - nc=100,
I lEcsroBu1=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log¢/Y,)
= (1/2,4) log[2,4Y,/50)] - (1/2,4) log¥)

log(dY/Y)=-0,57, m;=-0,41~ = s

I*,=50, dY,=4,80 dY,/Y,=0,2666 1 ~ >-.bereich

'v,=18
1 Yw=90

log (Y/AY)
C,=(Y/AY)

IECSRGBul
Normfarbwertkontrast
Yac=Yw - nc=100,

I lEcsroBu1=50 (YY) /2 4(Y,=18, ¥,/ 100Y<=Y, )
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,))

= - (1/2,4) log[2,4Y/50)] + (1/2,4) logY)

log(Y/dY)0,57, m=0,41 _ - =~

bereich
Y,=18
Yy =90

Yn=3.6

Anwendungs-

Anwendungs-

Anwendungs-]

Anwendungs-

=
el

e
P

IECSRGBuL1 relative Normhelligkeit I*/I* ,
Y= Yw nc=100,

I lEcsroBuI=50 (YY) 24 (Y, =18, Y, 100Y<=Y, o)
1 (3,6)=26,* ,(18)=50,1* ,/(90)=98

Anwendungs-|
bereich

1y,=18
Yy=90

/1 J=1

L*, =49, 1*,=50
A

Yn=3.6

log(AY/AY,)
AYIAY,

IECSRGBuUL1 relative
Normfarbwertdifferenz

Yoc=Yw - nc=100,

I lEcsroBuI=50 (YY) 24 (Y718, Y, 100Y<=Y,o)
log(dY/dY,) = [1-(1/2,4)] loglf/Y,)

log [(AY/Y) I (AYIY)] IECSRGBuUL relative
Normfarbwertempfindlichkeit
S/Su=OYMIAYY), yomy TS
I lEcsRaBUI=0 (YY) 24 (Y218, Y, 100Y<=Y, )
log[(dY/Y)/(dYIY),] = - (1/2,4) log¥/Y,,)

Anwendungs-|
bereich

1y =18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBuL relativer
Normfarbwertkontrast

CelCru=(YIAI(YIAV)u ¥, =Yy - =100,

I lEcsraBuI=50 (YY) 24 (Y718, Y,/ 100Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

log[(Y/dYY(Y/dY),]=0, m,=0,41
=5
I* =50, dY,=4,80 Y,/dY,=3 - =~
o~ Anwendungs-|
. bereich

YN=3.6  Yw=90




